Honors Precalc Name: KEY
Sample Spring Final - Part 1 Date:
Calculator Allowed Period:

Show all work. Round to 3 decimals.

Multiple Choice (3 pts. each)
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5. If the derivative of fis given by f'(x)=¢" —3x?, at which of the following values of x
does fhave a relative maximum value?
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2. Find the domain, y - intercept, and extreme points of
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—_’m&m . 3. Find the domain, zeros, and extreme points of y=1n(2x2 —2x—12).
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Name: Y€

Honors Precalc Date:
Sample Spring Final - Part 2 Period:
NO Calculator Allowed (10 pts. each)

Show all work. Round to 3 decimals.

Multiple Choice (3 pts. each)

6. At which of the five points on
the graph in the figure at right are
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7. The function f, whose graph consists of two line segments, is - 0 " A

shown at right. Which of the following are true for fon the open & "7*'_“ b\f‘:
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ll. The derivative of fis positive on the open interval (a, c).
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8. If r is positive and increasing, for what value of r is the rate of increase of r* twelve
times that of »?
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9. The slope of the tangent to the curve y’x+y*x*=6at (2, 1) is
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10. If f(x)and g(x)are differentiable functions with values as given in the chart below,
and k(x):f(g(x2)),what is k'(2)?
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Free Response (10 pts. each)
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4, Find the traits and sketch f (x)={
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5. Show the sign patternsof f and f' for y = 7T and use them to
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6. Show the sign patterns for the derivative, list all traits of y=In(2x*—2x-12), and
use them to sketch the curve.
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7. Find the traits and sketch the graph of y = xe™ +2¢™.
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